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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1)

giiereft FEUYUH AU T U W ATHTR fHarEd: forg |

Candidate must write first his/ her Roll No. on the question paper

compulsorily.
2) | U T H AHAE E |
All the questions are compulsory.
3) T T T IW &l TG IT-Yfeaeht | g e |
Write the answer to each question in the given answer-book only.
4) 9 99t # aiieh @WUg §, 39 |t o I Uk A1 g o)
For questions having more than one part the answers to those parts are to
be written together in continuity.
5) U9 UR % TEeat 9 SN ®UTar W TRt TR Y e / o / ferranyme g W =
HTYT o WA T T A
If there is any error/ difference/ contradiction in Hindi & English versions of
the question paper, the question of Hindi version should be treated valid.
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3)

9T W& 3Tk T U
1-13 1

14 - 24 2
25 - 27 3
28 - 30 4

Q. Nos. Marks per question
1-13 1
14 - 24 2
25 - 27 3
28 - 30 4

9 AT 21, 27, 28, 29 @ 30 # aries fareed g1
Question Nos. 21, 27, 28, 29 and 30 have internal choices.

Qg - A
SECTION - A

Prma forree & srefia gial aun srefia wion @1 w faaw)

Write the value of axial distances and axial angles of triclinic crystal.

ST & TTAH ATATHA 1 ey Fam 6y aftwran fafao)

Write the defination of Kohlrausch law of independent migration of ions.

ae & § % ofig W T Aol STghe SATHishaT il

Give half cell equation of doniell cell takes place at cathode.
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fieer i <61 srfurfiren 3 S Fredtes St gaTd ferfia)

4)

Write the unit of velocity constant for second order reaction. [1]
5) @i 2N, 0, — 2N, 0, + O, ¥g Ale Fgagsht™ 6.93 dave g al ¢ Fadis 7=

Hifu)

For reaction 2N,O, — 2N,0O, + O, the Half life time is 6.93 sec, determine the

rate constant. [1]
6) TSRAUT dcd A=ATRTIN AR TATd g Ueh hIUT d1fU|

Transition element form intertial compound. Give one reason. [1]
7) Ufceha Uchiged a dfTel Ueehigel Ucdih w1 Uh—TUeh 93 feTRau|

Write the formula of each alkgl alcohal and benzyl alcohol. [1]
8) e i TG wrey fifr)

Give resonating structures of anisole. [1]
9) hiawr arfufsRaT w1 Wt AR faRau)

Write chemical equation of Cannizaro reaction. [1]
10) FRT TEtfemera, THifemerar Y gan § o1ferer sreita 21 Ush wrur difsro|

Chloroacetic acid is stronges acid than acetic acid give one reason. [1]
11) == Jifrent & W fofau -

&) CH,N? HSO; 7)) {©-N=N—<{-OH

Write the name of following compounds:- [1]

(A) C.H.N7 HSO; ®) {S~N=N—-<=-OH
12) f=afeRaa siiwfer % TerR 1 ag=Tie U 3R gHehT TR TR fiRau)

) aferem ¥) fawedm

Identified the type of following drugs and write its types. [1]

(A) Valium (B) Cimetidine
13) oA qen Wi, &Y. ©i. & WEte 99 il

Write the chemical formula of teflon and P.V.C. [1]
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Qs — o
SECTION - B
14) 31) 3\ & wHeiie o fumefire ywfa 4w v o= i)
F) 3 (%) i fayga =reswar 10* — 107ohm™' m™! @em 3@ (@) it Taga wmetehar
102°— 10"9ohm™ m™, g @1 3@ (&) qAT 3 (W) HI UFATHY qAT TART ATH
ferfam)
(A) Give any one difference between anisotropy and isotropy nature of solid.
(B) Electic conductivities of solid (X) is 10* — 107 ohm™ m™ and solid (Y) is
102 -~ 10 ohm™ m™, Indentified solid (X) and solid (Y) adn write their
name.

I 1
[1+—+—]
15) Freforfan sfufarsi & forg e wmafis e fifag) 2 2

) W i i IR i Sufedt ¥ argueeia sited e & arer fsRam g 21

q) WE AeRIeh oA hi Tew grzemaise | foRar s 2|

(A) When Ammonia react with atmospheric oxygen in the presence of catelyst.

(B) When sulphuric acid react with sulphur trioxide.

[1+ 1]
16) &) XF @ur XeF, # Sufed gt UxATy] § Hehul 1 haet T forRa|
q)  Pcls <t @ o sufeera frefia qen steftar smerear 6t e — fore errargent @ wwor
BEEIER]
(A) Write only the types of hybridisation of central atompresent in X F, and
XeF,

(B) Explain the reason of different length of equatorial and axial bond in the

structure of PCL.

17) 1) Ucehiged 1 faeh diemeor st awsTe |
¥) IR arfiremties @ WUt Uoehigel UTH oA <hi T AHIERIUT S|
(A) Explain denaturation of alcohol.
(B) Give chemical equation to obtain primary alcohol from grignard reagent.

[1+ 1]

[1+1]
18) 31) & FrieRtur ageTeh ok q QTR i
q) ACHA & T ¥ TY7h T TeheTehl o FTLUROT A0 G0 |
(A) Give two example of Bio degradaple polymers.
(B) Give the name of both monomers used in formation of terylene.
I 1
—+—+1
[2 > ]
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19) 1) WG AT AUATSIE | hIS qF v feafkau|
) Tkl form & ¥ g ToRat ST 71
(A) Write any two difference between Soap and detergent.
(B) In which work saccharine is used. 11
[—+—+1]
20) o) Tavreng ® v erfirehaw wued arelt |1 arg & AW ferRau) 2 2
T) Vg grEhia YUl & U Uiekfed Hifu)
(A) Write the name of two metal which used in maximum composition in
mischmetal.
(B) Calculate the value of magnetic moment of V*
[1+ 1]
21) a1) faema & ufenem ® ygw ‘awve &y’ & Sa1 wmEte @t dim)
T) HUSA YNSRI [ @1 oS 9 AWiiehd o sAT3u|
gt
) TSl & UTGHRH H A4 oh HeITe W Tgwh WITSaT TTEATSE o TN W g dreil gt
e gt o)
) UeGWAH o ARyur hicTt Tgh AYa Tugel U &1 T8 UG T S5
(A) Give both chemical equation of 'Mond process' used in nickel refining.
(B) Draw a neat and labelled diagram of zone refining process.
OR
(A) Give both chemical equation of leaching of silver in silver metallargy by
using sodium cyanide.
(B) Draw a neat and lebelled diagram of electridytic cell for the extraction of
aluminum.
[1+1]
22) 1) g 9T o WEIWUT i Aehd W ST TAFLIS &g TIwh o1g o1 A feRaw| samge ok
I AR i fhE TR TehdT 2l
&) Nacl, Hel wem CH,COOH #g A, &1 @ swet: 110, 100 @ 390 Mole™ 1 79
@1 A W | Hi)
(A) Write the namo of metal used in sacrificial electrode for the preventation of
corrosion of iron metal how its prevent the corrosion.
(B) If A’ for Nacl, Hcl and CH,COOH are 110, 100 and 390 Mole™ respectively.
Determine the value of 4 for CH,COONa.
[1+ 1]
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23)

Polential

2 HI

Reaction
coordinate

) Iuh oo ® FafRa (%) qun (@) fra goria 21 Suges am fafau)
) oo W fufa saa (%) i afearsn @)

Polential

2 HI
Reaction

coordinate
(A) Write suitable name of (X) and (Y) denoted in above graph.
(B) Give defination of only (A) denoted in graph.
[1+1]
24) 31) faafimm 'A' au ferfuma 'B' & it 9 g9 arer T & 9 faRam)
g) ‘yrha & maR W D.NLA. & RN.A. # vav &
(A) Write the name of dieases due to desiciency of vitamines 'A' and vitamines
IBI
(B) On the basis of 'Sugar' differentiate D.N.A. and R.N.A.
[1+1]
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SECTION - C

25) 1) ®iR U T hl 7 Agdl A USaRIE HAAR 21 ST 8 a1 T8 a1 9 T8t

26)

27)

UTd—

i) =& fafde gon = & *wga g1 ™ foRau)

ii) == feafa & @R = T Hifso)
F) 30U TSR e 100 ATH Siet | 2| UAHIER 3TFA shl HIeTerdT STet H [T <hifeTy|
(A) Due to low concentration of oxygen in blood, climber become weak and

unable to think clear-

(1)  Write speitic name of above condition.

(i1) Explain the reason of such condition.
(B) 30 gm of ehanoic acid present in 100gm of water, determine molality of

ethonoic acid in water.

[1+1]

A (37) Tk Wfess Ui 3 & 273 - 278 a1 W NaNo, + Hel st foram & =ifies
(%) ==Tar g1 Ffires (1) s HBF, & foram s ot et wma 3eutg st NaNo, sht sufearfa
T T e R AR (|) 9re gran 31 @R (") w1 SntHcl 6 sufeufa o sraeem |
iR (31) gA: ITE graT 2|
Compound [A] is an aromatic amine which react with NaNo, + Hcl at 273 - 278
km and form compound [B]. Compound [B] react with HBF, and the obtained
product onfurther heating, in the presence of NaNo, and cuform compound [C].
Compoun [C] reduced in the presence of SntHcl to re-formed compound [A].
Write general name of 'A’, 'B' and 'C' and write equation of all reaction involved.

1 1 1 1 1 1
[-+—+—+—+—+==3]

2 2 2 2 2 2
Frafefaa diffes wmat e fran w0 @fierror qon o1) qeon =) = umw w@
A) TE-2-3w
q) FARGH

srera

CH,-CHO & frmfaiRea @ifies &) o &) Wi UTH o i WTEE ATHRAT
Tttt de srfrfsraT & A forRau.
) wH
q) WA FAR U .
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Write the equation of chemical reaction and main of reaction obtained following
compounds (A) and (B) from CH,CHO

(A) But- 2 -enal

(B) Chloroform

OR

Write the equation of chemical reaction and name of reaction to obtained
following compounds (A) and (B) from CH,COOH.
(A) Ethone

(B) Mono chloroacetic acid.

[1+1+1=3]
@ us — §
SECTION - D
28) 1) TR o Ueh kel ol TGNUT |13 Tfdaf-ard iqaT 2| Fifeh tharedt oh Tameft = femfa
T HIE TF AT
) TA HE & AW foTRau [t Thaedt Tt 5 7€ o anl
¥) IUUTH RIS R TOed AMIThd fas SATS0|
2) 3) WA % Thed W <kl giewmar i)
¥) TFafeRaa Al St 37k Tehed WHT & TR W F8d Hil 3 SAaiedd hifau|
-PO >, CI'', SO >
HAUAT
1) 3r1) '‘Sfw shm form TR 1 urEm 3| gEeRt sta A feRau)
q) SUIh UTIE T T8 9 ATHIRG s 94130
2) 3) 3R SUMTCHeR IORUT fordl ohgd 27
@) frefeRea @ vgw siftmives % @ forfau)
i) ToaoEa ¥ @i veret & ged o
i) e U U
(1) One of the factory of city bained by pollution board because factory owner
not arrarge a chamber on chimney.
a)  Write the name of chamber which not installed by factory owner.
b) Draw neat and labelled diagram of above chamber.
(2) a) Define coagulating value of sol
b) Arrange the following ions in increasing order on the basis of their
coagulating values.
[1+1+1+1=4]
OR
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(1) (a) Which types of emulsion is "Vanishing cream'. Write its appropriate
name.
(b) Draw neat and labelled diagram of above emulsion.
(2) (a) Whatis shape selective catalysis?
(b) Write the name of adserbent used in following-
(1) To remove colouring matter from solution.
(i) In gas mask.
[1+1+1+1/2+1/2=4]
29) (1) TFmafaRaa srfufsrar =t Wt arfeo o
H) T@ew srfufswan
) TrsArER At
(2) &) i) CH,-Br+KOH— CH,OH+KBr

CH, CH,
i1) CHS—C—Br+KOH—>CH3-\C—OH+KBr
CH, CH,
IWIh FHIEOT
1) a9
i) A THR AT TEERE @ Afufran 21 e % am feRau)
) g aAfufsRaTen
1) a9
ii) & Frafash 7 3 s fofRan)
HAAT

1) ffeaRea sifufran @ wmafes foRau-
) gew fRfem srfvrferan

9) foRehmeerza arfufsran
2) @)

C,H, C,H, C H,
Lava ) L _o o Laa
cn” v ¥ @ Ten, ¥ TN
e T Hfirer &' A @

ITIh AT & srfrfsraman

1) qor

i) #

i) @
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- Bt i g s (@) e (1) o Fa 2

TR T

1) qor

ii) o hae AW fRau
) AR
®) W AR

7)) R wer Y TifteRd aferemon fRafasft @ uma g 31w faRa)
(1) Write the chemical equation of following reaction.

(a) Swarts reaction

(b) Sandmeyers reaction.

(2) (1) CH,-Br+KOH — CH,OH+KBr

_ CH, CH,
W) CH,C-Br+KOH — CH,-C-OH+KBr
CH CH

3 3

Which types of nucelophillic substifution are in above reaction (i) and (i1).
(b) Write two differences between mechanisum of reaction (i) and (ii)
OR
(1) Write the chemical equation of following reaction
(a) Wurtz reaction
(b) Finkelstein reaction
[1+1+1+1=4]

C.H, C.H., €H,
ci® 3 Y/ e, Y/ TVon
Compound 'z’ Compound 'x' Compound 'y’

Write the names of process to obtain compound (y) and compound (z)

from compound (Xx) in above unclophilin reaction (i) and (ii).

(b) Which type of nucelophillic substitution mechanisum involved to
obtained compound (z) from compound (x). Write the name of
mechanisum.

[1+1+1+1=4]
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30) a1) free wrwe wHifeem @1 sfra Segrur Y wgmEET @ qHeEd|
¥) uHefeegEe st stfifsran 78 <ar § = awEEa|

¥) TR ATUTRAT gRT IO 8 UTH RIAT ? TIUA o SATeRAIeRTur <hi arfdrfshan
feRam)
3) fert fereram &t ufesgree & wry e foRau ?
ST

3T) A YUT AUTAT i IERUT Tigd AHATEH |
q) HEFATTh AT Shl STFAAT U TTRATIUAT & THTE h1 THSATEY ?
@) i) CHCHOH A (B)C

ii)

IUIR ATaTRaTe § 3eutg A, B, C &1 ug=nu ?
T) e URREIUT § HISTRAToTeh STTeT <hT ST Sgcdsl oh1d | forem Siman 21

(1) Define primary and secondary valency of metal ionc proposed by werner
theory.

(ii) Write primary and secondary valency of co in [Co(Nn,),] cl..

(ii1) Write structural formula of Ni(Co), and Cr(Co),.

(iv) Draw the structure which shows Aynergic bonding interaction in a carbonyl
complex.

OR

(1) Define linkage and ionisation isomerisum

(i) Which isomerisum show by [Co(NH,),]. Write name.

(i11)) Draw the diagram which show the transition of an electron in [Ti(H20)6]3+

(iv) What impact takes place on metal comlex due to transition of an electron in
[Ti(H,0)]**

oo
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